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QUESTION 1

What happens when an instance migrates from one snapshot to another and there is an activity in the old snapshot that
contains a token, but the activity does not exist in the new snapshot?

A. The token will be deleted

B. The token will become an Archived token

C. The token will become an Orphaned token.

D. The token will move to the next closest activity

Correct Answer: B

QUESTION 2
Which statement is true regarding user interfaces (Ul) in IBM BPM?
A. Client-side human service process instance Ul can be an instance details Ul or a process launch UL

B. Client-side human services are also referred to as heritage human services, whereas the new human services are
commonly called coaches or coach views.

C. Client-side human services can contain scripts, other embedded client-side human services, embedded heritage
human services, and service calls to other services.

D. Client-side human services are user interface artifacts that are contained only within and deployed with the
processes which use them they use coaches to build the web pages that users see.

Correct Answer: A

QUESTION 3

A developer believes there is an issue with a UCA being invoked. What are two places the developer can look for more
information?

A. SystemOut.log

B. Process Admin \'Event Manager\\' page a

C. Process Admin \V'Installed Apps\\' page

D. Process Designer \\'Process Details\\' page

E. Process Portal \\'Process Instance Details\\' page

Correct Answer: AD
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QUESTION 4

The process model below shows a development practice that is inefficient and may cause performance issues in an IBM
BPM application when a high volume of process instances are executed at the same time. Which inefficient
development practice is modeled below?

A. Not clearing variables in exposed human services

B. Requiring user intervention in each loop iteration
C. Using sequential system lane activities inefficiently
D. Using multi-instance loops in system lane or batch activities

Correct Answer: A

QUESTION 5

The IBM embedded document store should be considered based on which business requirement?
A. Document is not accessed during the process

B. Coaches should be able to display the documents

C. Lifecycle of the document needs to be tied to the process

D. Documents need to be retained long after the process instances are deleted

Correct Answer: C
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